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1. It's difficult for a small shop to with the big
supermarkets.

(A) compete (B) compute (C) complete (D) compote

2. Christmas, celebrated by most Christians

December 25,
commemorates the birth of Jesus of Nazareth.

(A) On (B) In (C) With (D) From

3. It 1s widely that the CEO will be forced to resign.

(A) supposed (B) opposed (C ) imposed (D) reposed
4. The building has only one main entrance and would be easy to

(A) secure (B) secures (C ) is secured (D) be secured

5. If you wait, I' 11 have someone

1t for you.

(A) collect (B) to collect (C) collecting (D) collected
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